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General Instructicns

1. All guestionz are compulsory

2. The question paper consists of 3T questions divided into four sections A, B, T and 1. Section-A comprises
of 4 questions of | mark each; Section-B comprises of 6 questions of 2 marks cach; Section-C comprises of
10 gquestions of 3 marks each and Section-D comprises of 11 questions of 4 marks each.
There is no overall choice in this question paper.
4. Use of calcolator is not permitied.
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Question numbers 1 to 4 carry one mark each.

.
7 afg AABC ~ ARPQ,AB =3 cm, BC = 5 cm, AC= 6 ¢cm, RP=6 cm 3 PQ = 10 cm B, 1 QR 31
Hifar |
If AABC ~ ARPQ, AB = 3 om, BC = 5 ¢m, AC = 6 cm, RP = 6 ¢m and PQ = 10 cm, then
find QR

2. sect 42° - cosee? 45° T HA I FifEw |

Find the value of sec® 42° — cosec® 48°
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3. ﬂﬁ[I+msA}{l—msﬁ}=E.ﬁmhﬁTﬂH¥mﬂﬁﬁl’ll 1

If (1 + cos A) (1 —mﬁ]-%.ﬁndﬂwvahmufsacﬂ_
4. Toel AT w2 9, AR o= FHowm a =552, Y 4 = 1008, h=10F 79 Y fu, = 30
£, 7 T8 925w W T wiw

In a frequency distribution, if a = assumed mean =55, % f; =100, h=10and ¥ fu, = -30,
then find the mean of the distribution.
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Question numbers 5 to 10 carry two marks each.

5. ﬂmaﬁwqﬁhmmﬁm.mﬂ%ﬂwmmmmm
R s i O

— ——

Find the smallest positive rational number by which h;* should be multiplied so that its

decimal expansion terminates after 2 places of decimal.
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Two tankers contain 850 litres and 680 litres of petrol respectively. Find the maximum capacity |
of a container which can measure the petrol of either tanker in exact number of times, '
7 fas witwm 0 =1 59 FW S = '
y—4x =]
6x -5y =9
Solve the following pair of linear equations:
y—dx =1
bx-5y=9 [I
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.'ﬁgwr DEF #1 wnsii DE aal EF @ #aw: fag Ra=n S 78 v foaq € f6 ER =5 om,
RD =2.5 cm, SE = 1.5 em A1 FS = 3.5 cm &1 =0g¢ T &0 RS|DF # 21 =7 2

R and S are points on the sides DE and EF respectively of a ADEF such that ER = 5 cm,
RD = 2.5 cm, SE = 1.5 ¢cm and FS = 3.5 cm. Find whether RS|[DF or not.

. see 0%, see 30F, sec 45°, sec 60° 3 sec 90° # W Taflu) 9@ x WA 0° | 90° 7% wegm 2, @
sec x & WM W WA YW B £? 2

, Write the values of sec 0°, sec 30°, sec 45°, sec 60° and sec 90°. What happens to sec x when
increases from 0° to 9077

7 T T o % WE WA St A fee sl w1 aEas 67 2 2
a 40-50 50-60 60-70 T0-80 R0-00)
T 5 x 15 12 7

Determine the missing frequency x, from the following data, when Mode 1s 67.
Class 40-50 50-60 60-70 70-80 §0-90
Frequency 5 x 15 12 7
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Question numbers 11 to 20 carry three marks each.

/ﬂmaﬂﬁquhﬁuumﬁﬂaﬁmmimmmh 3
Explain whether the number 3 = 5 = 13 = 46 + 23 is a prime number or a composite number.
12. ¥ § WA ¥ wies wd w1 g 9w faw @ s et wd mow Bl owm @ o
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A part of monthly Hostel charge is fixed and the remaining depends on the number of days

one has taken food in the mess. When Swat takes food for 20 days, she has to pay ¥ 3000

as hostel charges whereas, Mansi who takes food for 25 days pays € 3500 as hostel charges.
Find the fixed charges and the cost of food per day.
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Find the zeroes of the quadratic polynomial 3x* — 2 and verify the relationship between the

and the coefficients.

14/ Tm-1m fafy 9 w@ Fife: - 3

i X4 pe=y
x-Iy=11
Solve using cross multiphication method:
x+yp=1
Zx-W=1]

15. AABC ~ AFEG fem #1 @f% CD 791 GH %991: ACB 71 EGF ¥ Tafewrss 0 m#r &
f& D @@ H #9: AB 7 FE W Togm 2, 4 T wifeg 5 . 3
(i) AABC -~ AFHG
(ii) ACBD — AGEH
AABC - AFEG If CD and GH are respectively the bisectors of ~ACR and ~FGF such that
D and H lie on AB and FE respectively, then prove that :

(i) AABC ~ AFHG _
(i) ACBD = AGEH

16. TH wAN w=E W o war 9w UH € 699 W 34 €1 YEel wAn werd I@ fem § 500
ey =1 919 | 92 @ AW 7a0 7@ w1 #0650 fEeeven w1 a8 e
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From airport two aeroplanes start at the same time. If the speed of first aeroplane due North
is 500 km'h and that of other due East is 650 kmvh, then find the distance between two
aeroplanes afler 2 hours,
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5
Given tan A = 7 find the other trigonometric ratios of the angle A.

1 1 1 I
secA-tanA cosA cosA secA+ tan A

| | | 1
Prove that : - = =
Ve e A—tmnA o0sA cosA secA+tanA

15 fog =ifsu
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19. T famrers #1 ol § wEw @ w61 w1 shew 71 o wefEa @73 #ovhe § e
% sitga oiF 718 & Ty § wite weR # gen it wefeal w1 wen w1 squE T
ifo) & =
The average score of boys in the examination of a school is 71 and that of the girls is 73, The
average score of the school in the examination is 71.8, Find the ratio of the number of boys

the number of girls who appeared in the examination.
//{;mxﬂﬁﬁﬁnﬁﬁmﬁmﬁmﬁfﬂqmﬁmnmmmfﬁmw

ey AT g2 § 2y T £ 3
ufe (7 o) 0-20 20-40 40-60 60-80 20-100
faefiri =1 W& 5 % 12 11 4

IE YEF FOAYE A qges FE St

Some students of Class X donated for the welfare of old age persons. Their contnbutions are
shown in the following frequency distribution:

Amount (in ¥)  0-20 20-40 40-60 60-80 &0-100

No.of Students 5§ ] 12 11 4
Find median and mode for their contribution.

"ug - € /SECTION - D
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Question_ numbers 21 to 31 earry three marks each.

7 fog wifay fe feell < wovm o9 s9mes qofst =1 EEE 6 @ fawe 2 4
Prove that the product of any three consecutive positive integers 13 divisible by 6.

22. ‘s QU F T ;o4 2 =5 30 - Yy=—4 % o aetm wifaw @ fa ot I Wi

=l 7 A tend x Ay w5 faendt € 4

Draw the graphs of the pair of equations : x + 2y = 5 and 2r — 3y = — 4. Also find the points
where the lines meet the x-axis.

23, WEES o - 1Tad + 34x— 12 9EUS 2 - 2 F 9 Rifaw) 9vTRe 9w w9 aw Fifm ay fauwes
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Divide the polynomial x* = 17¢* + 34x — 12 by x - 2 and find the quotient and the remainder.
Also venfy the division algorithm.

24, UF NGOF THINGO T wem T faured § e s dee gh 3 w1 Feaw fe we
fom 3Tt fafir=y =ufaeel © 9 faan w8 wem wwiE o4t + 20 - 8 + 30— 721 T8 #IY
A wer faenet & T of I w8 U ww = e faefia w1 den oo 2+ 20
mwﬁﬂi?lﬁﬁmﬁxnltmﬁﬂ.ﬁ#ﬁmﬂmmﬁﬂ?ﬁqmiﬁ:f{m
T NGO 2R T famedl =) e afn feeft? sl -8 qeg Tmie R 4
An NGO decided to distribute books and pencils to the smdents of a school running by some
other NGO, For this they collected some amount from different people. The total amount
collected is represented by 4x* + 2 — 8% + 3x — 7. From this fund each student received an
equal amount, The number of students, who received the amount, is represented by x - 1 +
2x2 After distribution, 5x — 11, amount is left with the NGO which they donated to school
for their infrastructure. Find the amount received by each student from the NGO. What value
has been depicted here?
5. TEEmEE vHa ® faEn yey = fofen g b s 4
State and prove Converse of Pythagoras' Theorem.

}p("mﬁrﬁ maaﬂtqsrt‘lmfagai ot wew: R 9R T ammm #) fog Fifw T

I

QR » QS =QP < QT4

P

Q R 5

In the fiture, PQR and QST are two right triangles, right angled at R and T respectively. Prove
that QR x QS = QP = QT.
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(i) tan A + cot B

(i) sec A - cosec B.

Lfﬂiﬂ[ﬁ+3]=llndman—B}=:%,ﬁndthcvalu:n[:

(i) tan A + cot B
{ii) sec A — cosec B.

1 1
E‘Aﬁmﬁ=x+ﬂﬂmmmﬁ+mﬂ=hﬂw5 4
1 i
Ifﬂﬂcﬁ=1+4—x.iﬂmﬂﬂﬂl mﬁ-pmﬁ-_—gxurﬂ
29, fag =ifom: 4

tan” 0 . ot O
foim’d T4ood
Prove that:

= sec O cosecd — 2s5inf cos O

o 3
tan” @ cot” @

- 7
+ftan 8 |+ cot -8

- 0 uw e # wp w6 A gf aew w1 uf deRw I A o awn A o 4

= sec 0 cosecB — 2sin B cos 0

I7w (fEmATT) 10-20 , 20-30 30-40 40-50 50-60

@A F qEn 3 9 12 20 6

uF ‘¥ #iyE wER’ F an =@idy 9w 39 9% | s s J@ S e
The following table gives production yield of rice per hectare in some farms of a village:

Production yield 10-20 20-30 3040 40-50 50-60
(in kg/hectare)
No, of farms 3 9 12 20 6t

Draw a 'more than type’ ogive. Also, find median from the curve.

CLASS - X IMATHEMATICS (M)]




CLASE - x

il 50-52 53-55 56-58 59-6] 62-64
9 F e 15 110 135 115 25
e
WA F e ay T A M g Fifm|
In‘a retaj] market, fruit vendor were selling mangoes in packing boxes. These boxes con tained
varymng number of mangoes. The following was the distribution
No. of mangoes 5(-52 5355 56-58 59-61 62-64
No of boxes 15 110 135 115 25
nd the mean angd median number of mangoes
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